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Dismiss
Directions

In this section, there are two types of questions: problem solving and data
sufficiency.

For each problem solving question, you are to solve the problem and indicate
the best of the answer choices given.

For each data sufficiency question, you are to decide whether the information
given in each of two statements, labeled (1) and {2), is sufficient to answer the
question, whether the information in the two statements together is sufficient,
or if neither is sufficient.

More detailed directions will appear before the first occurrence of each ques-
fion type. At any point in the test, you can read the directions for the question
type you are working on by clicking on HELP.

BRERN , FEEARGAEHEE, 25 S$“Answer Confirmﬂﬂﬁik%%ﬁﬁikiﬁ%ﬁ%’
BERE“Next" ABET —B, —B AT “Next" 25, FRAEBER B ZM, i, BAERTRELRE
BMARUTEVUKE, B S H RS T ESET,




This data sufficiency problem consists of a question and two state-
ments, labeled (1) and (2), in which certain data are given. You have
to decide whether the data given in the statements are sufficient for
answering the question. Using the data given in the statements plus
your knowledge of mathematics and everyday facts (such as the
number of days in July or the meaning of counderclockwise), you
must indicate whether

« statement (1) ALONE is sufficient, but statement (2) alone is not
sufficient to answer the question asked,

« statement (2) ALONE is sufficient, but statement (1) alone is not
sufficient to answer the question asked;

¢ BOTH statements (1) and (2) TOGETHER are sufficient to answer
the question asked, but NEITHER staternent ALONE is sufficient;

* EACH statement ALONE is sufficient to answer the queshon asked;

« statements (1) and (2) TOGETHER are NOT sufficient to answer the
question asked, and additional data specific to the problem are

needed.
Numbers: All numbers used are real numbers,

Figures: A figure accompanying a data sufficiency problem will conform
to the information given in the question, but will not necessarily

Directions

When
finished
reatling

directions
click on the

Dismiss
Directions

What were the gross revenues from ticket sales for a certain
film during the second week in which it was shown?

(1} Gross revenues during the second wesk
were $1.5 million less than during the
first week.

{2) Gross revenues during the third week
were $2.0 million less than during the
first week.

<O BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficient.

O EACH staternent ALONE is sufficient.

O Statements (1) and (2) TOGETHER are NOT sufficient.

O Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
O Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient,

| -
lime

|
Quit | Exit

i Help [§




What were the gross revenues from ticket sales for a certfain
film during the second week in which it was shown?

(1) Gross revenues during the second week
were $1.5 million tess than during the
first week,

(2) Gross revenues during the third week
were $2.0 million less than during the
first week,

Statement (1) ALONE is sufficient, but statement (£) alone is not sufficient.

Statement (2) ALONE is sufficient. but statemert (1) alone is not sufficient.

2> BOTH statements TOGETHER are sufficient, but NEITHER statement
ALONE is sufficient.

O EACH statement ALONE is sufficient.

O Statemnents (1) and {2) TOGETHER are NOT sufficient.

008

e e 71
Exit Time

What were the gross revenues from ticket sales for a certain
film during the second week in which it wag shown?

(1} Gross revenues during the second week
were $1.5 million less than during the
first week,

(¢} Gross revenues during the third week
were $2.0 million fess than during the
firstweek,

& Staternent (1) ALONE is sufficient, but statement (2) alone is not sufficient.

< Statement (2) ALONE is sufficient, but statement (1} alone is not sufficient.

< BOTH statements TOGETHER are sufficient, but MEITHER statement
ALONE is sufficient.

O EACH statement ALONE iz sufficient.

O Statements (1) and (2) TOGETHER ars NOT sufficient.

C=




Sohve the problem and indicate the best of the answer choices given.

Numbers: All numbers used are real numbers,

Figures: A figure accompanying a problem solving queston 1s
intended to prowide information useful in sohang the
problem. Figures are drawn as accurately as possible
EXCEFT when it is statec in a specfic problem that its
figure is not drawn fo scale. Straight lines may some-
times appear jagged. All figures lie in a plane unless
otherwise indicated,

To review the directions for subsequent questons of this type,
click on HELP.
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B4 EE
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ETS WU 18 43R0 5 4 ST IR, FARIB IR 4 R A X B (80D . T ETSEF A
EHREE, UM T ASHOFEERNUMSH /3 £HNERA,

HES SRR 4ERE? SRR REEE R ERMIRRKFHES, il il
FERESRY, FEETEHR-EE D, MR, MRRINEES AL, RE B IS, HRX
MRBUR A 2 2R, R 9 B K 2 BB R R AR, N TRR LB T iR A B, B W /R 7T R e 4F
HXAERAE . A 2BAELREVE? B EREEEREE S, AR ZAHEEEC T CANCEL
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FRRFTA 5 BEE IO , & 5 fRAT R B M AT A 10 2 R B OR Bl TR R BRI E B, 4 AR A
EHCHKRELS DS, HE, — BREE accept”, BE LB F & BRRIGE RS, i ETS N R
RERF ARG R IR, @B IR, B AR 2 W B E R A ST R R B AN IR 6480 B i
RAR EAREZA AT A EE— XN Z RV ERR S, EIRE ETS MBHME, M 2002 4£ 1
A1 HE®, B GMAT MREARERE 5 K. YR, EHZ BT MR BN HERN,
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F—F ARFHERR%

—. BMERA R X

RERBFHS BERNOBERIS! LB, XM RBSRNE—MERR, 8 20 TEE L
AR B RBR . — A GMAT ATtk B MR EBE WK F (B ETS K18 5 % stk
EIXERAE, MANTRARBREB, R ABREE ROEEREE - EX L RIEEH B0
HH. BMERARBER ETS XERFHHRE, Bl — N EKRFEFHE AL R
X ER DR BRI, TR 3 2R B E B

EHE XTI

L AERERERERUET AEFORBELF TEXREER/LD BN E).

2. RNETAPAET o B RZEI, b 30 5 METRE S BN L, 2, 3, 4, 5, 4RAT LSRN 3 %3,
RIEHM N ZRRT 3 WBERNT 3 B BEHERN,

3. MPERARAFRBUERORELR, FAUNETAE, SR-AFAET LRSI
W12,

4. HEBRE EH IR, B B F A2 T I R AT .

$11 When the positive integer Z is divided by 24, the remainder is 10. What is the remainder
when Z is divided by 87

(A) 1 (B) 2 (€)3 (D) 4 (E) 5

& ﬁﬂ%%ﬁi%ﬁﬁﬁﬁﬁ%%ﬁ%ﬁ,EIWJ?*‘%?E%%ﬁﬁﬂ‘]iﬁﬁl‘ﬂﬁﬁﬁ%ﬁ—%ﬁﬁﬁo X —
BB DMERAR/MRAE., RE—/% Z,ﬁ§ﬁ~/:‘é%§( 10, BATATLAMBRIR Z =34(34 =24
T10), 0 34 # 8 BRI, B0 4, RECH 2, MBI RIE R ERE, 32 58 XA K (58 =24 X 2+
10) ZJE, RekRER 1S (B) RIEHRE K.,

WE XAMREMRAREENRRERHADEERBE NG %, R AERN T EEE Rt
RABERENEN. B-, MEIFRE XM EFRANE, PRBEAE Y Tk 55 4h— AN 04780 B 24 iy A D
VR— RSO, AT AR T 0, 3 BB K K 4R B AR O (100 % 438 ) BHIE, 7 GMAT E{ B35 4538
BARER 2 53 4R 1], S B0 %R [ R

B12 1If n is an even integer, which of the following must be an odd integer?

(A)3n—2 (B)3(n+1) (C)n—2 (D)g (E)g




B FERRB). 4FFRHESRMNEELMEN, AEEIR MR E, EXE, FTE
nET 2, MG n=20,3x+1) =09, MBI WRIEEALCELRER AT RTNE.

TV REERE
EFRERARR MR E R, TON EHRN bREIREEZNEN. X2, FREIHE

F R I0VE M T AR E B R

A N EXANBF
1{0.303: = 2727, thenz =
(A) 9000 (B) 900 (C) 90 (D) 9 (E) 0.9

JJ'*—‘
(e}

B OBRR(A). X5 AN I A A 2 ROK L AR T DL R A R TR M ik, 0.303 4% F <
3= = 2727, ) < WO A 9000 215, IR FUATI A 7 AR MR, RATHATE A,
R RECHEGE-MRAMORETA. YA MASRTPUHTEBUERN G E
B R E i, TR E TS R AR R B R B k2 —,
FF AAMALBEH

KEHNE T - FEROLERBES . KBS 2 AT LB X — 354

1
e
N
%

Jis
N
g

IEX (positive number) & A FE MM, t1+1.5, +5(FHATEEE LS 1.5 M5

15 (negative number) 2/NFEMS, I1—1.5, —5.
%%iﬁ(\vhok?nunﬁxx)f%3<ﬁgéfd\iﬁ*ﬂﬁ}ﬁﬁﬁﬁii%EéﬁﬁgEP}Z%?j@integero
*4&%%%%@MﬂmvmmgﬁI—LSh+L5%%NE%$~L5m%N@jM—LSI

=1+1L5],

0 2 (Integers),

ZVEfFEm
1F SR TR 1 7 1)
He/ b

FHX B = EX



CIEE X A% = A%
S X S = EHC

b/
44(—5)=4—5=—1
4—(—5)=4+5=9

B3 (even number) : AEBZ 2 BRI (BB (—4, 0, 4, 8, 10),

FF 8 (odd number) : FHEH 2 BEFHOEE(—3, 1,7, 9), |

Fi%% (prime number) : LB 1 M E B EEI%E@IE%&(E%:I Z:%Jﬁﬁ, [ﬂ?ﬂ’EREE?& BOC
BER). , ' ' coT

#E 8% (consecutive numbers) :— R PR F T EBR .

B+

E5ER:2, 4, 6, 8, 10
EEER:1,3,5,7,9
PSS :3, 5,7, 11, 13
B0k 3R AT B AR ’

BE + B = A
A+ A = A
A+ AR = A
BRI X BE = B
BEX B = BK

Blat+d= 8(1R%0)

B3+4 = 7(BH) |

#1343 = 6(fB%0)
B2 X2 = 4(BH)
B2 %3 = 6(E%)

AEX TR =FK B3 X3 =9(HH)
B — B = B B 16 —8 = 8({B%%)
B — T = T 116 —5 = 11(FH)
A — T = B B9 —5=4({BF)
ZEBIF ‘
If k£ is an odd integer, state whether each of the following is odd or even:
(A k+k+k (B) B Xk Xk (C) &+ 2k (D) 2k X &

BO(A) (k+k) 2B (B+2) +k 225
(B) b Xk ZAHLBTLL (B X E) X b th R X
(C) k4 2k A
(D) 2k 2B%, ‘ '
- ﬁu%%ia%&ii%?ﬂﬂﬂ@iﬁJ@%?ﬁi(@)ﬁﬁ)&~’hi§(ﬁu 2EE ) RERANCEBH %
SRAGE AT ] o 2 R AN B T
R (factor) BB, TR RIE B A — N EH BRERS M EREERE TR TR E -,
e, 2¢ MR, 2,3, 4,6,8, 12, 245 84, .24 RERX 8 MR — N R,
JUN BB IR /A 1531 (least common multiple, 45 55 LCM) R E#X JUA SRR 10 B /N0 B8 #

« 3 .



